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ECONOMICS
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains 75 questions. Attempt all questions. Each question

carries equal marks.
1. Leontief paradox :
(A) Establish empirically the "H-O Théory"
(B) Contradicts empirically the "H-O Theory"
(C) Differentiate between value in use and value in exchange

(D) None of the above

2. Which of the following approach does not treat consumption to depend uf;on

expected level of income ?
(A) Life cycle approach (B) Friedman’s approach
(C) Keynes’ approach’ - (D) Both (A) and (B)

3. The hypothesis that the degree of income ineqﬁality increases at the initial
- stages and declines at the later stages in the development history of nations

has been advanced by :
(A) T.W. Schultz (B) Simon Kuznets

(C) R.F. Harrod (D) J.R. Hicks
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4, Consider the following statements are identify the right ones :

(7)) Malthusian theory says that supply of food grains increase in geometric

progression.
(i1) The population grows in arithmetic progression.
(A) Only @) is correct ' (B) Only (i) is correct
(C) Both are correct - (D) None is correct
5. In the IS-LM model the fiscal policy multiplier is larger if :
(A) The demand for money is more ihterest elastic
.(B) The demand for money is less interest elastic
(C) The demand for investment goods is more interest elastic
(D) LM curve is 'Verticél
6. Match the following lists from the codes given below :
List-I , List-1I

(@) PSychological Law of consumption () Keynes

®) Employment multiplier . @G) Kabn
(©  Ratchet effect i) Patinkin
(@  Real balance effect () Duesenberry
Codes : |
(@) (b) () (d)
@ O (ii) (i) (i)
® O (iid) @ @
© O Gid) @) (i0)
™ @ (id) ) (i)
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7. Which country is the top source of Indian foreign direct investment in the

first half of 2015-16 fiscal year ?

(A) Mauritius (B) Singapore
- (C) Maldives (D) Sri Lanka
8. Sustainable development explains :

(A) Development that meets the needs of the present generations without
compromising the ability of future generations to meet their own

needs

(B) The process of increase in output would involve greater consumption

of resources
(C) The rechless use of resources would cause exhaustation and degradation

(D) None of the above

9. According to Union Budget Proposal, 2018-19 allocation for National Rural

Livelihood Mission is :

.(A) Rs. 2,500 Crore ’ (B) Rs. 3,700 Crore
(C) Rs. 4,850 Crore (D) Rs. 5,700 Crore
10.  “The price of primary commodities decline relative to the price of manufac-

tured goods over the long term, which causes the terms of trade of primary

product based economies to deteriorate” hypothesis given by :
(A) Marx and Schumpeter (B) Ranis-Fei

(C) Prebisch-Singer (D) Lewis

TB.C. : 05/1T/ET—III 6
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11. Consider the following and choose the correct condition/equation for the

condition of entry in Bain’s model :

; _ P -F
@ E= B
P, (1+E)
. P, == L
(iv) P,

(where E = Condition of Entry, Py, = Limit Price and P, = Perfectly Competitive

price) .
(A) Both (i) and (i) are correct
(B) (i) and (iii) are correct
(C) (), (1) and (iiz) are correct
(D) All are correct
12. HRIDAY is :
(A) Heﬁtage Development Authority Yojana
(B) Heritage City Development and Augmentétion Yojana

(C) Heritage Development Yojana

(D) None of the above

T.B.C. : 05/17/ET—III : 8
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13. Match List I with List II and select the correct answer from the codes giveh

below :
List-1 List-IT
(@  Liquidity trap () G. Hardin
(b) Assymmetric inf§rmation (@) Keynes Model |
() Tragedy of the commons (i1i) Market Faihife
(d) Wage flexibility @) Classical Model
Codes |
(a) ®) (c) - (d)
| (A) @ (23] (iv) (€229)
® @ @ O
© @ 0 Gii) - (iv)

D) @) . @ (iv) (iiD)

14. If C =50 + . 8Y and ¢ = 0.1Y, value of multiplier would be :
(A) 100/28 | (B) 50/18
(C) 509 | @ 1009

15. Given the production function Q = 5.1}*. K*3, calculate the value of marginal

product of capital, if: 64 units of labour and 27 units of capital are used
(A) 40/9 | (B) 64/9

(C) 64/27 (D) 40/27

T.B.C. : 05/17/ET—III 10
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16.

17.

18.

18,

20.

Equilibrium of a monopoly firm will be when :

©) Ep

0 (D) None of these

Producers’ equilibrium will be established when :

(A) MRTSy = ¥ (B) MRTS,y > Y:’-
_ Price of K MUy W
©) MRISw =$roof L D MU, ~F

If C = 0.75Y and I = 100 — .25 i(i = rate of interest); IS equation will
be : ' |

(A) 400 — .25: (B) 400 -1
(C) 440 - .1i D) 420 -

Entire incidence of GST will be on the buyers when, the demand for the

commodity 1is :
(A) Perfectly inelastic (B) Less than unitary elastic
(C) Perfectly elastic (D) Unitary elastic

Learner’s index of measuring monopoly power is :

P-MC- 1
@) — ®
(C) Both (A) and (B) (D) TR — TVC

T.B.C. : 05/17/ET—III . 12
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21.  Assertion (A) : Isoquant is downward sloping straight line.
Reason (R) : MRTSLK is constant.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
~of (A)

(C) (A) is false but (R‘): is true
- (D) (A) is true but (R) is false
22. Given
C =10+ T5Y
- I=5+02Y
- G =10 and ¢ = 0.2Y

Where C = Consumption I = Inveéstment, ¢ = Tax and G = Govt. Expenditure.

Whereas Y is national income. Calculate the equilibrium level of income :
(A 175 (B) 225
(C) 150 ' o D) 125

93. The IMF charter provided financing facilities for deficit countries and allowed
- exchange rate adjustments. All countries pegged their currencies to the dollar

but United States Pegged to :
(A) basket of currencies - (B) gold

(C) diamond _ - (D) all of these

T.B.C. : 05/17/ET—IIT o
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24. The gravity model reveals :

(A)
(B)
©)

(D)

The trade between any two countries to the rises of their economies
The strong effects of distance and international borders
(A) and (B) are correct

Ohly (A) is correct

25. Human Development Index was calculated by using following indicators :

(@)

(b)

(c)
(d)
(A)

(©)

Health—Life expectancy at birth

Education—Measures by adult literacy and combined primary secondary:

and tertiary enrolment ratio
Income—Measured by GDP Per capita (PPP)

Infrastructure—Roads, Railways, Institutions

@), ®), (@ B (@, @, @ ‘

(@), (b), (¢) ' ' (D) All of these

26.  Perfect competition and optimal allocation of factors—geheral economic efficiency

condition 1s :

. P
(A) MRSyy = MRTyy (B) MRSy =5
P, MC, P
MRTS, , = =L X - _X
R ¥ D) wmc, TPy
27. What are GST rate slabs ?
" (A) 5%, 12%, 18% and 28% B) 7%, 9%, 18% and 24%
(C) 6%, 8%, 20% and 28% D) 8%, 1%, 22% and 24%

T.B.C. : 05/17/ET—III | 16
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P
(A) MRSyy = MRTyy (B) MRSy =5
_ b MCy _ Py
(C€) MRISix =35 @) Mc, = P,
27. GST S ¥ WR &1 § ?
(A) 5%, 12%, 18% 3R 28% B) 7%, 9%, 18% X 24%
(C) 6%, 8%, 20% 3 28% D) 8%, 1%, 22% 3R 24%
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28.

29.

30.

31.

The appropriate expenditure switching policy to correct a deficit in the balance

of payments is :

(A) Revaluation (B) Devaluation

(C) Monetary policy (D) Fiscal policy

The basic rationale of the theory of “Big Push” is based on .

(A) Internal Economies’ (B) Size of Population

(C) External Economies (D) None of these

RBI calculates four components of money supply, My, My, M3 and M. Which

one of the following statements is not correct ?

(A) M; = Currency with Public + Demand Deposits with banks

(B) Mgy = M; + post office saving deposits

(C©) Mg =M; + My

(D) M, = Mg + total post office deposits

Which of fhe folloWiné is one of the basic objective of monetary policy ?
(A) To control the deficit in BOP

(B) To control deficit of the budget

(C) To control cost and availability of money

(D) Both (A) and (C) are correct

T.B.C. : 05/17/ET—III 18
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30.

31.

YTAH HgEd § TR B @ wE B ol o uRedT w5 sfed Afy w2
(A) HATHAT - (B) SHIHAT
(C) Hifsew Hifa (D) T=hEg i
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da M,, frefafen 3§ ¥ SF@ w9 9a & ¥ 2

(A) M; = Sl & W HE + Sk § W SEE

(B) M, = M; + S&@EFl H &€q @ (F9d <)

D) My = Mg + SEHEE | Hd SHE
frefafea @ @ =Fw g3 Hfifd =1 @ =@ § ?

(A) YOH 9qed | =R &l @ &

(B) & & ®e & faf=a &

(C) W& ! IqTeudl - q9l ord 1 e w5

(D) (A) W& (C) A T& ¥
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32.

33.

34.

35.

36.

Which of the following factor does not influence the velocity of circulation

of money ?

(A) Business Conditions

(B) Credit facilities

(C) Quantity of money

(D) Selling cost of business firms

Which state has the maximum number of women with a bank or savings

accounts that they themselves use ?

(A) Bihar (B) UP

(C) Goa (D) Harayana

“Faster, sustainable and more inclusive growth” was the theme of :
(A) Ninth five year plan (B) Tenth five year plan

(C) Eleventh five year plan (D) Twelveth five year plan

As per United Nations Population division replacement level of total fertility

rate 1s :
(A) 25 ‘ (B) 1.0
(C) 21 D) 3.5

Among BRICS nations which country ranks last in case of doing business

2018 :
(A) India (B) Brazil

(C) China ' (D) South Africa

T.B.C. : 05/17/ET—III 20
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37.

38.

39.

40.

Who coined the term “Hindu Rate of Growth” ?
(A) Prof. Amrtya Sen (B) Prof. Suresh D. Tendulkar
(C) Prof. Jean Dreze (D) Prof. Raj Krishna

Main reason at improvement in India’s CAD between Late 2014-15 and

2016-17 was :

(A) Exports higher than imports

(B) Regional trade agreement

(C) Decrease in i.nternational crude prices

(D) Financial sector reforms

India’s external debt in 2015-16 was :

(A) 24% of GDP (B) 32% of GDP
(C) 12% of GDP (D) 16% of GDP

Assertion (A) : In India growth of labour force is slower than population

growth.

Reason (R) : Share of students in working age population (15-59 years) has
increased 9 percent in 1999-2000 to 13.9 percent in 2011-12.

Choose the correct answer from the code below :

(A) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is correct explanation of (A)
(C) (A) is correct but (R) is not correct

(D) (A) is incorrect but (R) is correct

T.B.C. : 05/17/ET—III 22
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38.

39.

40.
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D) ofehed & T ¥ g wRO W ¥
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41. Mstch the following :
| (@) The theory of comparative advantages () Adam Smith
(b) Thé theory of absolute advantage (@) David Ricardo
(¢ The factor endowment theory (fz1) Samuelson
(tv) Hekschef-Ohlin
@ @, ), @ ® M,@, 6
©) 3, (2), (1) D) @), @), (1)
42. TFactors determine size of .gain of International Trade :
(@) Nature of terms of Trade
b) Difference in cost Ratios
(¢) Productive efficiency of the country
(d) Factor endowmerﬁ and technological conditions
A) (a), (b), () | B) . (o), (a), (d)
©) (@), (@), (d) (D) All of these

43. Fiscal federalism term was introduced by German born-American

economists :

(A) Prof. Pigou and Dalton in 1958
(B) Richard Musgave in 1959

(C) Canons in 1960

(D) Wagner in 1961

T.B.C. : 05/17/ET—III 24



41,

42,

43.

et w1 fe T

(@ o @ fagE RO 'ng e
®) oy arm faga Gy efae farEl
© wNE sSeEw Hew (i) ST

| (i) — EEER-SEfer
(A) (2), (1), (4) B) (1), (2), 3)
) 3), (@), 1) (D) (4), (2), (1)

mwwﬁ'ﬁnaﬁmaﬁmmﬁaﬁam%:

(@) OUR T Rl WA | |

(b) @ s e q fave

(¢) <X I IACH FIA

@) FE SR au TR e

@) (@), ®), © B (©), @, @

© ®), @, @ ™ B wh
ﬁnaﬁﬂhwaﬁwn@aﬁaﬁaﬁﬁaﬂaﬁwﬁﬁmﬁﬁﬁz
(A) W. T T wEed 3 1958 H H |

@) f=e 7diE ¥ 1959 # *

(0 T T 1960 q @l

(D) ¥R ¥ 1961 H !
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44.

45.

46.

If ‘J-curve’ exists, currency depreciation may have :
(A) Contractionary initial effect on output and exchange rate
(B) Expansionary initial effect on output and exchange rate

(C) Neither expansionary nor contractionary initial effect on output and

exchange rate
(D) None of the above
The Fisher effect states that :
(A) Depreciation in the US money market

(B) The real interest rate equal to the nominal interest rate minus the

expected inflation rate
(C) Flexibility of the prices allows this to jump in the short run |
(D) None of the above
Zero based budgeting starts from a zero base which explains that :
(A) All expenses must be justified for éach new period
(B) Balance can be carry forward for new period
(C) (A) and (B) are correct

(D) None of the above is correct
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44, TR ‘J-uw' doE ¥, B OIEE & HRT

45.

46.

(A) W@ﬁﬁmamaﬁwmqﬁ

(B) A T fafma @ W i frameRt yE

©) T T A W S o T @ R R I
(D) S § | HE T

fihyR gu@ wHeam §

(A) ZTE. gH IR § T

®) WW@,WWR—W#@WH%W%
(C) aﬁnﬁﬁmwuwﬁaﬁwﬁmﬁéﬁ@ﬁ%
D) ST H § R T

A et oA ¥ @ WO g W T e w E

A) voF T g o == w it

(B) ' =fudis &1 W& ¥HF § A o §E

(© (&) @ (B) A @ ¥

(D) sW&@x # | FE &
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47.

48.

49.

Offer curves state :

(A)

(B)

(C)

(D)

The quantity of one type of product that an agent will export for each
quantity of another type of product that in imports

It ignores the effect of monopoly elements on consumer welfare but offers

normal products for consumer welfare
Exports offer subsidised products and developed world gets benefit of
it

None of the above

Sterlized intervention 1is :

(A)
(B)
(®)

(D)

A technique used to control population
A policy used by the Govt. to promote economic growth
Undertaken by the International Monetary Fund

Open market purchase or sale by the Central Bank of a country in order
to offset effects of foreign exchange market intervention on the monetary

base

Unemployment Gap :

(A)

(B)

(®)

(D)

The gap in the qualification of those who are unemployed

The deference between actual unemployment rate and the natural

rate

The gap is time duration which an unemployed person has to spend

in order to find job

The gap between the rate of unemployment of males and females
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47.

48.

49.

s a% (Offer curves) Fedl § :

(A) @ﬁzw%@waﬁwﬁﬁa@mm%,m%@im
1 ya® el % fag el s

(B) TE SYNET TN W THIEHER Tl & TS A TSRS HA B AR

meﬁwm%mmm%

() Trgia sfdfe Fema W agell (Subsidised Products) F TEH FW T
forpfaa 3% o0 @fad B €

D) wﬁmﬁvéﬁﬁ
froTRer e w1 #d ¥

(A) SHEEn fEem

(B) W@R g faed @ W w3 & A
(©) I'MFgmaTWﬁ“ﬁﬁﬁl

D) ﬁéﬁﬁgmﬁgmmigﬁaﬂmmu@aﬁw@ﬁﬁﬁwmﬁﬁﬁ
319 % g0 A aR H swau (F9 fama H)

EREUIICE RS

(A) SR ®T G § S

(B) Sty SRS e SR e ST g H SRR

(C) @Wﬂﬁﬁﬁﬁﬂwm{ﬁ@m@rwaﬁamﬂmm%

@) T e ferl § SR # S H S
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50. Adverse supply shock is one :
(A) that shifts supply curve

(B) that leads to increase in price level and reduction in level of

output
(C) that leads to reduction in unemployment
(D) all of the above
51. Sacriﬁqe ratio is :
(A) reduction in employment during period of jnﬂation
(B) ratio of tax revenue to GDP when tax rate is increased

(C) the ratio of cummulative GDP lost to reduction in inflation rate, during

a period of anti inflation policy
(D) only (A) and (B) are correct
:52.  Formula for computing effective literacy rate is :

Number of literate persons x 100

(A) Total population

Number of literate persons aged 7 and above x 100
(B) Total population

Number of literate persons aged 7 and above x 100
©) Population aged 7 and above
D) Number of literate persons x 100

Population aged 7 and above
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50.

51.

52

. (B)

wiqens ogfd - geeh w1 YRO™

A) i % § fegem

(B) Toa &R # gfg an ST | Al
(C) s # FH

(D) e st

qfefeM UM (Sacrifice ratio) &1 319 ¥ :
(A) Twifa & omafy § s A wHHI

. (B) X MM du GDP UM SW X X H Jhg @ SN ©

() TRfa-Framo HAift & W # safu § F=e GDP # W 1 THifd X A

FH HT I
(D) =wad (A) R (B) W& ¥
quret WERTT G H T e

&R =Afeadl st &A1 x 100
e S

(A)

g/ 98 T °a 8§ <G e SAfeEl B &A1 x 100

FH TS
i I 99 TS G I8 § ST R Al St G x 100
| O I 31gaT 9 a8 9 Q] Tl SHEeE
e fFadl 1 9@ x 100
(D)

T 9 AT T T8 W HHR el SHEEA
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53.  As per census 2011, male-female gap in literacy rate in India is :
(A) 24.84 (B) 21.59
(C) 16.68 D) 12.35

54.  WTO members agreed on a historic decision to eliminate agricultural export
subsidies, the most important reform of international trade rules in agriculture

in the year :
(A) Doha Round at the, 2001
(B) Bali Ministerial conference at the, 2013
(C) Nairobi conference at the, 2015
(D) None of the above
55. The term ‘Brixit’ explains about :
(A) England would become the most attractive place for European Union
(B) The effect of European Policies have observed negative on England
(C) British exist from the European Union

(D) None of the above
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53.

b4.

55.

9011 I SO SFFER RA HI Hfge-gEH Halte 6l HE 9T

(A) 24.84 (B) 21.59
(C) 16.68 | (D) 12.35

fam od § WTO & #ee 3 #fu fafl oem = @ &3 =1 36 = +

s frdt § weE wee et fla femn c -
(4) 2001 # & TS A

(B) 2013 & =it § g0 A9 H%hd H

(C) 2015 =& R =i%nd H

O v H A A A

‘Brixit’ &1 @ERoM foFwsh =) H § 7

(A) Sve R TT TR SRR d s S
(B) gewe W s Al F1 qu gvE e ™ E
(C) Ffrr w9 F v w faww

(D) 9= § | FE T
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56.  Solow growth model of economic growth states that basic three sources of

GDP are :
(A) Capital, labour and knowledge
(B) Capital, labour and augment labour
(C) Capital, labour and effective labour
(D) All are correct
57.  “The low level income equilibrium trap” is a concept in economics developed
by :
(A) Samuelson (B) Harrod and quar
©) Richard R. Nelson (D) Shumpeter

~ 58.  Which committee recommended tax on agriculture holdings ?

(A)

(B)

(®)

(D)

Bhootlingam Committee

Wanchoo Committee

Jagriti Committee

K.N. Raj Committee
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56. Wiel (Solow) & ofd® fowmm wie@ & UK GDP & diF SMURYd HRe

(&) T, 7 T I

(B) TS, s wd "I &M

(C) TUstt, s wd guERid &M

D) swF wff o ¥

BT ‘ﬁmwmmm‘ﬁmaﬂmaﬁaﬁwﬁfmﬁﬁaﬁwm%?
(A)‘ gerea | (B) e el eW
(cjﬁa@’mﬁw-r (D)‘Q;I‘fﬁ‘& |

58. wmmmmﬁmﬁmﬁ%?l
(A). el Hat (B) arr%;‘qvﬁraﬁ

(C) “mfq ®wAe (D) H.TA. TS FHHA
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59.  Objective of GST is :

@)
(i)

(uiz)

(iv)

(A)

(B)

©)

(D)

To remove the cascading effects of indirect taxes.

To facilitate the segmless movement of goods across the states.
To increase the revenue of the states.

To remove the conflict between centre and states.

Both (i) and (ii) are correct

(@), (i) and (ii'i) are correct

(1) and (zii) are correct

All are correct

60. Rangarajan Committee estimated the poverty line :

(A)

(B)

(®)

(D)

As monthly per capita expenditure or Rs. 1,207 and Rs. 972 in urban

and rural areas respectively

As monthly per capita expenditure of Rs. 1,407 and Rs. 972 in urban

and rural areas respectively

As monthly per family expenditure of Rs. 1,407 and Rs. 982 in urban

and rural areas respectively

As monthly per capita income of Rs. 1,377 and Rs. 982 in urban and

rural areas respectively
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59.» GST %1 399 ¢ :
() YA FU b HSh(ST IIE H GH FE
O T LR g g g————
(i) T 6 S T TG |
(o) F=5 T T & 0" T F TH B
@ GG EE
® ), Gi) T Gii) T #
© () W (i) W ¥
D) 3 |t
60. ﬁ.ﬁw@é%ﬂﬁﬁ%@mmm{
(A). g gfa =afe =@ 1,207 & W@ 972 ¥ mmﬁ Td A
53 | |
(B) wifew ufd =fF =@ 1,407 & TE 972 T HAN: Wl qen g
& 4
() witew yfa =afm =@ 1,407 & T 982 FUF HAY: TR A UTHO
gt A
(D). wifgs wfa =afm =09 1,377 & T 982 TR HAW: IR a1 T
&t #
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61. For simultaneous equation model to be identified, the necessary and sufficient

condition is :
(A) Order condition
(B) Rank condition
(C) Both (A) and (B)
(_D) Neither (A) nor (B)
62. A white noise process is stochastic process with :
(A) Zero mean
(B) Constant variance
(C) Serially uncorrelated error term
(D) All of the above
63. In random walk without drift :
(A) The efféct of shock persists throughout the time period
(B) The effect of shock in fhe past dies out over time
(C) The effect of shock drifts away quickly-

(D) There is no effect of past shock
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61. THSIH THHT HAlEH H MESAEE HH & (a9 e ao 0 (Sufficient)
T HE R 2

(A) 3 v
®) = w
(€) (A) 3R (B) 3
O @) R @) F ¥ FE
62. a@zwmwmm%m
(A) mwvﬁr%
(B) ﬁmﬁw%
(C) Ffedt # wrwwrYy T °
- (D) sHEx wh
63. AgresH T (Random walk) fogd s'@ (Drift) T& T A :'
(A) fet ot ws (Shock) 1 ¥ I Ha emfy # wa @
(B) VA& % YFh 1 YUH THG B WY AW & S §
©) mmumsﬁaﬁ?ﬂ%w%

(D) ST o T HIE I TEl Bl
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64. In the eduation i
¥ = by + byx; +

U, is a random disturbance. p; measures the deviation of the observed y value
from the true (unobserved) regressioﬂ line. The disturbance term (or error.

term) arises because:

(A) Many explanatory with only slight and irregular effect on Y are omitted
from the exact relationship given by Y = by + le

(B) P0531ble error of measurement
(C) Random human behaviour
(D) All of the above
65. What is the meaning of the term Heteroscedasticity ?
(A) Variance of U;- is not constant
(B) Variance of dependent variable not constant
(C) Errors are linearly independenf of one and another

(D) Errors have non-zero mean

d log y
d log x

1&/1
(4) y dx/ x

- 66.

is equal to :

(B) ‘elasticity of y with respect to x
(C) gives the slope of the curve plotted an a logarithmic scale

D) (A), (B) and (C) all true
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64.  THERO
yi:b0+b1xi+ulz.
U, Tfes® T4 %1 I SO B ¢ HAE

(A) 9gd R =AEAHS (Explanatory) =R y WU QI = guE SR § S
TR y = by + b,X T W@ T fean s T

(B) flhsi ,'%mﬁﬁwﬁag&ﬁ
(C) Fcfess AFeEE Fgal (FEeR)

(D) S9gsa |t
65. %%ﬂﬁ@w (Heteroscedasticity) T ¥ 1 4y T 2

(A) u; F1 AR (Vairance) feR 7@ &
(B) fsR =1 1 fommw feer @ ©

© Tt ™ g W Pewm frok & €
D) it w1 e I T e

d log y
d log x g

lay 1
(A) ydx/ x

(B) y & A

- 66.

(©) ﬂﬁxaﬁiyﬁaﬁﬁmm%ﬁamaﬁﬁwwﬁwﬁ‘m
7

D) (A), B) R (C) T+l ¥ %
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67. If X = HK*LP
where H is a positive constant
(A) o and P represent elasticity of output with respect to K and L
(B) o represents marginal productivity of K
(C) o + P represents the total factor productivit);
D) « aﬁd B has nothing to do with elasticity of output

68. IfZ=flx,y)is a homogeneous function of degree r, then according to ..............

theorem :
3c95 4 yé-z— =
ox dy
(A) Leontief’s (B) Guassian
(C) Euler’s (D) Koopman’s

69. Given the Marginal Propensity to Consume = 0.7 + 0.1y V2
then the consumption function is :
A) C =07y + 02972 + k.
B) C =07 + 022 + 5y

(C) C =07+ 02912

0.7 + 0.2y2

D) C
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67. aﬁX=HKaLBm(aﬁH®mﬁm-ﬁw%):
(A) qsﬂw%ﬁwm(K,m%ﬁraﬁmaﬁ?ﬁaﬁm%
B) o I F G SEEEd ® e §
(©) o+ p FHA M SEAREHA H T ¢
(D) usﬂzﬁwmaﬁ@aﬁﬁm%

68. R Z = flx, y) r HitH HIEE HoA a& TG & STER :

B L
x oy ?

A) foaRfes | (B) i
(C) 3R (D) HIHA |
69. afx g swm v
MPC = 0.7 + 0.1y~ V2
%.?h “ﬂ%ﬂﬁ T d BN :

A C=0T7y+ 022 +k

B) C =07y + 0.29Y2 + 5y

€ C

0.7 + 0.2y

M) C = 0.7 + 0.2y
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70.  Which one of the following is true ?

A linear programming problem has multiple solution if the objective .

function :
(A) and one of the constraints are linearly dependent
(B) 1is parallel to one of the constraints

(C) if the linear programme is degenerate

b1_ #1
’ Xe=
b, %o

where A is input coefficient matrix, D is final demand matrix and X is output

(D) (A) and (B)

ay; alz-]
7. A= J,D=

Q91 Qg

matrix
"X = - AID is the gross output vector.
On the basis of above information which of the following are true ?
(A) [I - A] is termed as technology matrix
(B) Eléments of I — AL are tel_'méd‘ as structural multiplier

© a; in I — A can be interpreted us as change in output of the ith
good necessitated by the increase in the final demand for the jth good

(D) (A), (B) and (C) are true
72.  If the correlation coefficient r = 0.6 then the regreséion equation expléin :
(A) 60% of the total variation in y |
(B) 86% of the total variation in y
(C) 64% of the total variation in y
(D) None of i:he above
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70. T ¥ HEEW HY TI % ?
w%ﬁ@mmmaﬁmwaﬂﬁﬁaﬁa&am#:
(a) ¥R SheeE § e k@ ¥
- (B) fFd ufaerem & ¥R ©
(C) 3k Yo sReH Tufasfaa @

©) (@A) R B) T

Q11 Qg9

C by
71. A A=[ }(mwm) D=\: } (afam =) x{xl}
b, | %yl

Gy Oy
(ST FX) X = (1 - A)7'D (W AR T
- SudeE gEMell & STUR W HME FUH A ¥ ?
A) [ - Al = weier dfeem |
(B) (I-A)—lﬁaﬁi;ﬁmwvm%

(©) (I-A)‘lﬁ?ﬁéaij'ﬂ@i¢3ﬂm$qﬁaﬁﬂaﬁm%ﬁﬁﬁﬁjaﬁaﬁ
Afm i gt W RN TG §

D) (A), (B) ¥R (C) ¥ §

79. AR WEEERY O r = 0.6, T GHSEA GHET ;
(A) yaﬁ@GO%w&aémaﬁ‘wm%
(B)yaﬁagrss%v&aﬁmaﬁwhr%
© y T T 64% T B <@ ¥

D) s9gF # ¥ ®E T
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73.

74.

75.

In the equation Y = A + BX + ¢, the e represents :

(A)
(B)
(©)

(D)

The X—intercepf of the data
Value of Y to which others are compared to determine the best fit
Random disturbance from population regression line

None of the above

Which will be the property of OLS estimator in the presence of

Multicollinearity ?

(A)

(B)

C)

D)

.Will be consistent, unbiased\ and efficient

Will be consistent, unbiased and inefficient
Will be consistent but biased

Will not be consistent

For an exactly identified equation the order condition should be fulfilled is -

that the equation must :

(A)

(B)

(®)

D)

Exclude one less than the total number of endogenous variable in the

model

Include one less than the total number of endogeneous variable in the

model
Include only one of the endogeneous variable in the model

Exclude two or more endogenous variables
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73. Y =A + BX + ¢ WHI®U #, ¢ Tl ¥ :
(A) oS & X-TTEE H
(B) Y& 39 g &I, {9t ga sfea fhe (Best Fit) =1 feila &0 & fod
# T ¥ |

() wufe § agfas T =
(D) STF ° ¥ *E &

74.  wgEfoE w1 Refd § 9 o WA (OLS) kel bt @ fafrsear gt 2
(A) WW,MW@RE&T%A
(B) W, eWf¥a W TGg & T B
(©) W 3 Wy R T E
I(D) ST B

. qoide sTEEfewie wEW § B oSt wd [ A ey 2

(A) Hied § Hot Tl =0 H ¥ e § TR WX WHA T o @iey

(B) dRE Hied § n o7& =X & @ &0 | (n — 1) R WiHA 81 =1fed

(C) T # dfedl &1 hoad T & AN O WiEA e e

(D) THERT @ T ¥ eifyw el WX R wfEa & ST
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